Run 5878 quartetwise, Asyms0 (Raw): All Run 5878 quartetwise, Asyms0 (Raw): Beam OFF
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Run 5878 quartetwise, Asyms0 (Raw): Beam ON, Laser ON Run 5878 quartetwise, Asyms( (Raw): Beam ON, Laser OFF

guansiwisa baami last asymi quamstwiza baomi losl asymi
Entries 0 Entries 0
Mean 0 Mean 0
Std Dev 0 Std Dev 0
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Run 5878 quartetwise, Diffs0: All

guartetwise diff0

— Entries 1489
= | Mean  -0.2211
= Std Dev  0.7331
: 1 10 I'|'nJ|-| 1 1 1 | 1 1 1 1 I 1 1 1 1 | 1 1 1 1 | 1 1 I'Il Il 1

-3 2 = 0 1 2

PosHelAccO/PosHelNSamplesD - NegHelAccO/NegHelNSampleso

Run 5878 quartetwise, Diffs0: Beam ON, Laser ON

Run 5878 quartetwise, Diffs0: Beam OFF

quartetwiss_k=am0_difio

Entries 0
Mean 0
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Run 5878 quartetwise, Diffs0: Beam ON, Laser OFF
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Run 5878 quartetwise, NegHelAccO/NSamplesQ: All

_ quartetwize_negHQ
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MNegHelAccD/NegHelNSampleso
Run 5878 quartetwise, NegHelAccO/NSamples0: Beam ON, Laser ON
guamstwisa baami las® nagHD
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Run 5878 quartetwise, NegHelAccO/NSamples(: Beam OFF

guarebwise_bsamd negkll
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Std Dev 0

Run 5878 quartetwise, NegHselAcclVNSamples0: Beam ON, Laser OFF
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Run 5878 quartetwise, PosHelAccO/NSamplesC: All

guartetwise posHO
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PosHelAccO/PosHelNSamplesD

Run 5878 quartetwise, PosHelAccO/NSamplesd: Beam ON, Laser ON

guamnsiwisa baami los! poskHc
Entries 0
Mean 0
Std Dev 0

Run 5878 quartetwise, PosHelAccO/NSamples0: Beam OFF

guarelwise_bsarnl pashd
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Std Dev 0

Run 5878 quartetwise, PosHelAccO/NSamplest: Beam ON, Laser OFF

auamstwiza baami lasl posko
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Run 5878 quartetwise, Sums0: All

quartetwize_summbD
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| Mean 14.54
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PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSampleso

Run 5878 quartetwise, Sums0: Beam ON, Laser ON

Run 5878 quartetwise, Sums0: Beam OFF

quartebwise beaml surmmd

Entries 0
Mean 0
Std Dev 0

guamshwiza baami las! summi
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Run 5878 quartetwise, Sums(: Beam ON, Laser OFF
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